ENGLISH COMPOSITION

Direeilons (Questian MNos, 1-7) © Pick oul
the most effective wond ar groap of words
from the grven words ko fll in the blanks 1o
make the sentence meaningflly conyplete

. As the e of life expeviancy has
increased due o fremendous progress
n meddical sChence, 1he
overpopalation problem has
(A) aggravated  (B)  mininboed
() digtoried (D encouraged

2. Bight scientists have the
national wwards  for  outsansding
conribution and dedicotion fo the

profiesion
{A)  bestowed {8y picked
iC} hagyed {3 conferred

A The two brothers
{A)  resemble one another
(B} resemble to one anather
(€] reseanble with one another
{0} resemble each oibier
4. The miermet is 3 medium where users
hove nearly  chaiees and
constraints shoul whore to go and
what 1o do.
(A} arhalanced, non existem
(B)  embarrassing. no
(C}  unlimtited, minimal
(¥ choking. shocking
& The highest reward for o man's toil i
nol whai be gets for i, bur wha
{A)  he mukes out of it
{B) he gets for it
{C) hrh:wnmmumgh in
(D) e becomes by it
6 Simcewe _ read every book, we
. onlly the famous ones,
A} have sold  (B)  should, by
IC) must, ignore () connol, select
7. The Bourd called on & meeting 1o
the finameial situntion of the

ﬁ:l'lﬂ)ﬂll}'
(A} mevise
(Ch review

(B} cover
(D% suppori

Directions (Question Nos. 8-14) ¢ In each
of the [ollowing seniemces, sone
allermatives  are suggesied  for  the
idioms/phrases in ialics. Choose the ane
which best expresses the menning of the

idiome/phrases in sentences.

B We should gunrd sygminst our green-
g friends.
(A] rich (B} jealons

() handsome () enthusiastic
9. The populasity of the vesicryoars'
SUPSTRLAF 15 &0 et v,
(A} growing mone (B} of ils peak
(Ch prowing less (D) s rock-bosiom
0. The sailor found himsell batueen the
devil mad the deip sew.
(A1 lost in the deep ocean
(B} ficaig two challenpes
1€} fcing  mwo  equally  Bad
sltermatives
(D confromting two opportunitics
1. My motber is dn ropéwres over ber
new stove
(A)  very enthusiastic
(BY  working vigorousky
(C)  completely sissatisfied with
(D) extremely angry
12, Cwr school is within o sione's throw
of the milway station.
(A)  within a certain radis
(B}  ata short distamee
(T} witlish & definkte clreumiference
(T very far of
13 Il you give Ashesh all ous money,
you are likely 10 burn your fingers
iA) beil (B} be happy
{C) suffer (D) be unhappy
14.  He has sceomplished 5 Morcadem ik
(M) alloted work
() work reqidring great effort
(C)  impossitile job
(D} incomplets work
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Directions (Question Nos, 15-18) : Each
of the followmg questions consasts of &
blank before o word, choose the correct
prefin oul of the wiven allematives to fill
the hlank fn each gendence.

I5. Floppy disks are __ expensive.
(A} un B)
{C) on oy i
6. As the resualis arc regular, the

program  will have 1o be written

again,
1A un (B &
iC)  inter (D) dis
17, Your pay ries 5 __ sotive 1o the
be:inﬂ‘luguflune.
(A} retm (B} in
() mn (o) re

18, You can increxse your chances of
linding & job il vou are timygual.
(A} m (B} intor
] b {1 od
Directions  [(Questiom  Mos,  19-12)
Choose the right suifix for the blanks in the
EIven seniences,

19,  He was acting in & very child

wuy,
(A} -ful (B} <ish
{C) -hood (D) -mess

0. The number of shap_ will
increase over the comang manihs.
(A} -ing (B} -menis

1) -ape (D) -ness

1. Soitware develop_
producing mereasingly mptl.m:md

applications.

(Al -ing (B) -oms

() -ers (B -ment
I, My mew washing machine is

completely  use It doesn't

wotk properly.

(A) -l (B)  -leas

1 (D} -er
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Directioms (Question Nos. I3-39) ¢ In
exch of the fellowing questions, ot of the
givin alieranlives, choose the one which is
nearest in meaning 1o the given word.

13 Ghb
(A) twagh (B}  smeoth
(Ch rough B rouge

4. Edify
(A}  consume
(B)  satisfy
{Ch  insiruct
(D) amuse

15 Logusciouns
(A) berilliam
(B} kmowledpesble
(C)  talkative
(@) narraiive

6 Paramount
(A) prosstignous  (B] sapreme
0y valusble (D} wrgem

7. Oeculi
(A} mysterious
(B)  harmlcss
() dreadfial
(D}  amnzing

28, Dstentatious
(A}  moisy
(B)  inlkative
{C)  showy
(O} wealthy

29, Candid
(A} free (BY  frank
) jolly (D) friendly
a



Dircetions (Question Nos. 30-36) 1 Fach
of the following questions consists of &
sentence in which one word is faficized. It
s followed by some worde Select the
word which i closesi 10 the opposie i
menning o the italicized word.

3. He has a superficial knowledge of
the suhfecl.
(A} wide (B} profound
(T sulliceem (D) excessive

M. Every move he made scemed o
offiect him adversely,
(A} decply (B} favournbly
() badly 1D imternally

3. The mew effices is 0 hrask young

mat,

(A} polie (B} arrogant

(C) kind (D) handsome
33, 1 found my views 1o be comgruous to

those of my mother.

(A} Eregular (B} mismaich

(C) mconsistent (D) dissgrecing

M. The momentum of the sovemeni

sluckened in course af time,

(A) recovered  (B)  multiplied

(C) quickensd (D) stopped
35 The frivelous remarks provoked no

CIMMEE;

{A)  serous {B]  momentous

(C)  frantic (D) fancifial

36. His serdy manners were s great
impediment in the paih of his

RUCTERE,
(A} quick B)  enthusiastic
(T} shuygish (D} progressive

Drections (Question Nos, 37-40) = Pick
oul the most sullabbe verb firom the given
pons (0 make the following sentonces

correct

A7 A crowd of peopte  shouting
shogans.
[A)  were (B} was
{C) Bre D) have

M. Acoustics u branch of Physics.
(A} are By i
{C) was (D were

3. These daye mumpe nod = all

dilfieult 1o cure.
{A) is {By are
{C) was (D) were

40, The Baard of Directors Tarmed
o all our demanids.
(A} have (B) we
{C1 has () were

Directions (Quiestion Mas. 41-44) : In
exch of the following questions, cat of the
fiour allematives choose the word which
can be  substituted  for  the  given
wonki/senbence.

4. An imaginary nome assumed by an
author for disguise.
(A} Homonym  (B)  Mickname
(C) Penmame (D) Pseudanym

4L A place for sick people who nesd

long periods of treatment or rest

(A)  Asylam {B)  Sanstorium

{C}  Chnic {1 Hospital
43, Anassembly of Hsteners,

(Al Spectmors (B} Audience

Ty Mob i Crowd

44, Ready o believe.
{A)  Cradible {B) Creditabie
(C) Credulows (D) Incredibls
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Directions (Question Nos, 45-4%) ; Fach
of ihe following sestences has a hlank
space and four words given afier ihe
semence. Seboct which word you conssder
masi appropriale for the blunk space.

48, Owce he has signed the agreement, he
won'i be able o
(A}  back out

{B)  back o
(C) back in
(0} back up

46, lhaven'lseenyou __ aweek
(A) since
(B} for
(T} within
(D Fromm

47, Lots of peaple had come 1 attend his
lecture because he b very
scholar.

(A} imminent
(B)  engaging
(C)  popular
(D)  eminent

48 Having his pravers the old
man showly by down on has bed fo
l'll:i:p.

{A) done
(B)  said
(C) sung
{0 told

49,  The commandos ook o long Lime io
the resistances of the rebels,

(A} break down
(B} ol down
(Cy  paull down
(D) tone down
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Directions (Question Nos, 50-54) @ In
cach question below, there are iwo
senionces. These two semences are lo be
combined info one senteree which should
convey the same meaning a8 conveyed by
the twa sentences. Ii ks possible o combine
fhe pair of seniences in vanious different
ways. Beginnings of three such sentences
ure given below each pair of sentences.
You have to find out which ome of them s
the correct, appropriate and logical way 1o
combine the pair of senlences inio one
sentence b0 convey the same meaning as
conveyed by the two semlences,

50. He is shori-sighfed. Otherwize he is

fit for the post

P, Excepd that he

Q. Uhewasnot

K. Despite being

(A) Only P By OnlyQ

(C) OnlyR (D) Pand Q)
El.  The thief entered the room. He foand

i ety

F.  Entering

@ A.Iﬁmuah ﬂh:ﬂlbuf
R, Assoonas

(A} Omly P {B) OnlyQ

C) PadR () Qand R
52, Hesaw me. He came o me,

P Since he

Q. Az soon as
R Nosomerdid
(A) OnlyP (8] OnlyQ
C} OnlyR () QamdB

53. Yo are sincere, You can succeed.
P. Unlessyou
o Be
R.  Should you
{A} OnmiyP B P&Q
€] P&R D) PO&R

84, Hemade a promise. He kepa it
P. Making
. Heootonly
|18 I!:maduuuﬂmm
(A) Only Q B 0 Q&R
C) P&Q (O} Omiy R
o



Directions (Question Nos, 55-58) : In
cach of the following questions, a sentence
has been given i Active or Passive vaice,
Chit of the four alternatives suggested,
schect the one which best expresses the
same sentence in Passive or Active voice,

55.  You must look into this maiter,
(A} This matter has been looked

e by you.

(B} This matter may be looked into
Ty o,

(€1 This matier should be looked
o by you,

(D) This mutter into Josked by you.

56. My unche promised me a present,

(A} A present was promised by my
uncle to me.

1B) I'was promised a present by my
uncle

(C) 1 hal been promised a presend
by my uncle.

(D) I wos promised by my ucle
present

5T, 1know him,
(A} Heis known by me.,
(B} He was known 1o me.
() He has been known by me,
(D) He is known to me,

58, A stonc struck me on the head,
(A} 1 was struck by & sione on the
head.

(B} My hesd was stnack by a stone.

(€)1 bl been struck by & stone on
the head.

(D) 1 was struck on the head by 2
stone.

Directions (Question  Nos, 59-62) : In
each of the following questions a senience
hos been given in Direct/Tndirect speech,
Out of the four aMernatives suggested
sclect the one which best expresses the
same sentence i Indirect Direet speech,

59, The employer said (o the workman,
1 cannot pay you higher wages,”
{A) The employer told  ihe

workman that he could not be
paid higher wages.

(B) The emplover fald the
workman that he coald ot pay
him higher wages,

(€] The cmplover wamed the
workman thit he capnot pay
him higher wages.

(D) The employer forhade the
warkman to pay higher wages.

6. “Please don't go away™, she said
(A}  She said to pleass ber aned nof
go away
(B}  She told me nat fo go away.
(C)  She bepped that 1 not o sy,
(D) She begged me not 1o go away.

61, He said, “Whst 2 beautiful scens!™

{A) He sand thar what a beautiful
SCENE il Wik

(B) He wondered that it wes a
beantifial seene.

{C)  He excloimed what p besutifil
soene ji was,

(D) He exclaimed that it was o very
beautiful scene.

62, The raveller enguired of the farmer
i ke could 121l him the way to the
nearest inn
(A} The raveller said 1o the farmer,

“Where is the neares! inp 7
{B)  The traveller said to the Farmer,
“Which 5 the way o the
mearest inn T
(C)  The traveller said io the farmer,
“Can you tell me the way to the
nearest inn 7
(D) The traveller said to the fanmer,
“Can you tell me where is the
nearest inm T
ES]: ENGLISH COMP,



Directions (Question Nos, 63-66) ; Below
cach semiemce ase given four possible
substitutions for the italicized part. Choose
the correct option 1o improve the senfence.

63, Lel me copgrafulale you for wour
grand swecess in the election.

(A el (B} on
C) ut {0 with
6. Don’t medidle with my offirs.
(A} by (B) w
) in o w
65, Ome duoy vou will repent over whal
you have done.
{A) about (H) a
() of i) for
. The trakn was labe for [ifly minutes,
(A mround (B} by
(C) behind (D} over

Directions (Question Nos. 67-73) ¢ A pant
in the following semences is anderlined,
which may not he correct. Choose lhe
comrest option which when wsed improves
Ihe seence,

67, Rose is the most beautifl of afl the

(D) 1o other Nowgors

68 What g needed are nol clothes but
fimad,
[A) s
(B) were
{C) was
(¥ no improvemenl

69, | love fhe literature, the music, the

-

(A} the lterature, musc and art,

{B)  Hrerature, music and an.

{C)  the lterature, the music and the
art,

{7 Heerature, music, art.

ES] 1 ENGLISH COMP.

0. Mr. Dalip bad staving here since
1945,

{A) s staying
{B) has boen staying
{C)  has stayed
{D} oo improvement
T The public destobution syslem
should be closely  linked fo
employment,
(A} on
(B)  with
!_{"! ovier
(D) mo improvenen

T The mon jo who | sold my howse was

cheat.
(AY 1o whom 1 sell
(B} 10 who | sell

(€} who was sabd 1o
(D) to wheom [ seld

T3 The feching of achievement is the
Ereal motivator,
[A) the greater
(B)  gres
{C) ihe greatest
(D} no improvement

Directions (Question Nos, 74-78) : Four
pans of esch sentence are undertined. One
of these parts has o mistake somewhere
You kive to identify the mcormrect portion
of ihe seniences and not 1o carrea it

T4, She (A) jgihg 1alles) of the twa girls,
(B} that is why she (C) has boen
selocted (D) & the coptain.

T8 (A) I!{_iglﬂ: (B) X
yaur_{C ) pthe
beogpital ?

To.  (A) The principal (B) along with his
colleagues (C) prg in (D) the car.

T1. (Ab ILihe tencher allows (Bp us in
oy .
wall he Ieading the procession.
T, MW A he (B
B e -



Directions (Questlon Nes. 79-83) : One of
the four sentences given in each question is
grammatically wrong. Pick ol the wrong
sctilence

™.

#i1,

LN

(1]

(H)
(8]
{0y

(A
(H)
i

Ly

(A}

By
Iy
(m

{A)
[HEY]
L]

(3

(A)
L]

1)
o

Mathang - bul  funny  storics
delight him.

I canmnot mise this lid.

This is the book 1 warl

The thiel divesied the child
Trom all ber jewels,

It is tirme wou went 1o bed.
There is po end to rouhles,

We got out of the swimming
ool and dried us.

He'gloried in his victory,

Unless you do not work hard,
Vou canml succeed.

Please pay me by cheque.
1 fexl giddy.
You walk faster than L

1 fourd out that he was guilty,
I prefer to read than to write

The jury was divided in thesr
apandon.

MNelther of the men was tall

It 15 the meat ideal place.

The sews is too good o be
trae.

Theese: flowers smell swest.
Your watch i3 better than mine.

Directions (Question Nos. 84-87) : In
each of these questsons the firss and the last
ﬂmﬁ nl'lh:i . mnrruuhbmnll-
respectively. The rest ;nu.sl

|lm1|.l!mofumplmn.mnﬂ'{} mnd S,

four pars are ool gven in their
pmpu order. Find ouwt ihe
mmhumhun

A Four-year study
Fl that  bahies  feel
comfortable
{0 conducted by the Infant Testing
Centre

{R) around other habies

more

{5)  clearly sugpesis
Ei] E;:Séﬂmmp adules.

1 (B} QPRS
(C} QSFPR (I SPRO

They re nsostly people
(F} and they find the eclub very
converdent

(R} who work in the
{6} witheur tao much trouble,

(A} PORS B) QPRS
(C) RPSQ D) SORP

86 (1) Chades Goodvear  once
(P} and found that the resulting

rubber

L)} 1 [ 1
gu::gllmumn RLLES

{R} was harder, siranger, more
elastic

1 amd sulphar over o hot siove

6} and non-sticky

(A} (B) OSPR
(1] @ () SOPR

17 all the natsons

(P} for hq; common  good  of

man
(D) then they will never fight with
(R) work together

(5) and agree o obey these laws
6y andd thsere will be no war,

1Ay PORS (3 RPSQ

{C) ROPS (D} SORP

ESI : ENGLISH COMPF,



Directions (Question Nos, §8-50) ; In
each of the following questions, there are
£ix senlences marked 51, 56, P, Q. R, 5.
The portsoms of 51 and 56 are fived Yoo
are required o choose one of the four
alternatives  which would be the mos
logicul ssquence of the senience in the

[

BE 51

1A
(B}
i)
(o)

There are examinations af
school which a pupil can pass
by cramming the bexis.

¢ But for spirineal  knowledge

mere memary of holy text will
be of no use in passkng the Lest.

: Ome can score i them by the

power of memary.

¢ A competend gura alone can

provide the necessary guidance
b an earmest disciple.

. What the text says has o be

reflected wpon and exporicnced
by the speaker.

© Thue, reading reflection and

expericnce are the three slages
in gaining spiniaal knowledye.

QPSR
RSPO)
RSO
SRP

5L ENGLISH COMP,

5l

Al
i<

(A}
()

While crossing the busy mad
w ghould obey the pohiceman
on duty.

We should alwnys cross the
road at zebra crossing

We must look to the sipnal
lights and cross the moad only
when the road e clear,

¢ IF there are no signal lights at

the crossing, we shouald ook to
the right, then to the left and
again 1o the right hefore
crossing the road.

2 I the romd is pod clear we

shoisld e,

: We should never run while

crossmg o moad.
PORS {#) PSRO
QRPS () ROSP

The real cawse of the rise and
fafl of the sea lovel was not
kinown o men for & long time.

¢ They found out that Moon is a

satellite and il travels o regular
path arcund the earth

: ﬁnﬁmmﬂdﬂm:m

increassd, men began o leam
mare shout the heaven and the
slars mnd the planets.

¢ They nediced thal the Moon

rose each day about an hour
later than it rose the day before
andl the peak of the high tide
abso comes about an hour later
the each day.

. Some imagmed that the Earth

itself was alive and the nsing
and falling of the tde was
camsed by the breathing of ithe
Earih’s big bady

: 50 they concleded that the

Moon  and  the tide are
canmécled in some way.

PROS (BY OQPRS
SQPR M SROPE



Directions (Question Nos. 91-100) : You
have two briel pasages with gquestions
fellawing each passage. Read the passage
carcfully and choose the best answer 10
each question out of the four alternatives.

PASSAGE = |
The Rajputs occupy an honoured
place i the history of India. They were a
wiir-like people, proud and patriove. They
were jeaboas of thear honous, and would tay
down their fives to uphold it. They foved
their homes and fought bravely to defend
the hongar of their women folk. Nathing
would tame theis spirits. Perils only called
fonh their cournge and poverty only
mersased their power of resistance, Nooe
coull fight like them. Their modo was

“Better death than dishanoar',

#1. Which of the following represents
the theme of the passage ?
(A} The pride of the Rajpats.
(B} Hagpurs and their sacrifices.
(€} The rise and the fall of the
Rajputs.
Rajpuis-the spinted heroes of
Indinn history,

(o

92, Which of the following is opposite in
meaning 1o the word ‘preud” in the
passage ?

{A]  humble
(B} kind

(C)  courteous
(D} cowardly

83, The expression *Tame their spirits' in
the passage menns

(A} Suppress their smbitbions
(B} Arvuss their enthusinsm
{C}  Trevelop ibeir courage
(1 Curb their entlusiasm

$4.  Which of the following statements is
mt true din the comdext of the

passage 7

{A) The Rajputs achieved
eminence i history due b thejr
reat bravery,

(B) They were homely people and
would fight for upholding

women's hanour.

(C} In moments of danger they
would exhibit great courage

(0} They could not, however, lice

the challenge of poventy,

95.  According o the writer, the Rajpais
occupy an hanvured place in hastory,
becauss

(A)  They were fond of wars
(B They were proud of their war,

(C)  They were jenlous of peoples
honour
(D) They lived and died apholding
their s=1f respect.
ESL; ENGLISH COMEF,



PASSAGE - 2

Newspapers s6ll because of news and
aalitarial coverage but o gets more revenae
from advertisemenis. News costs money,
while adverisements fewch maney, The
eonomics of modern newspapers is such
that it cannot run by just selling news; it
has to depend ap #dvertiscments. The
economics  of  newspaper publishing
requires both subseribers wha can afford to
advertise in it The growih of the press
depenils on both. Therefare, jn NEWspaper
manogement  nedber  aspect  cap he
neghected

Co-ordination  ainong  the  varios
departments- edisorial, coeulanion,
advertising and  production - 5 wvery
casential  for  effective  ang hetler
Minagement, The head of varoos
departmenis  must  be past of  the
mansgement of the newspaper, They must
be aware of the goals eel, policies and
future plans of the mandgement, They
cannot afford (0 remain cul off fom ke
Mainstream of management function. In
addiven, each departmen: should keep the
other depaniment managers iaformed of
hose of it activities that will be usefll 4o
them. This i o vital aspoct of newspaper
Hanagemen;
96 The mowth aff newspaper depends on

{AY the editorial and news coverage

(B} large scale subscrihers

(€1 adverisers |

(M) subseribers and advertisers

ESI: ENGLISH Comp,
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The main ide of ihe first Peragraph
of the passage js

1A “t[mmhnfmtm

(B} News and editorial FOvErge

{C) The economics of newspaner
publishing

(D) The imporance of
alvertisements

The muin iden of second paragraph

of the passage is

(Al The future of newspapers

By How o sl AEWSPUNeTY

{C)  Effective Hewspier
managemen

(D) The rode of the hewls of (he
departments

The word ‘goal’ in the passage
mEans

{A) gim

(B)  conclusion

€] result

(@ benefi

Th:uwd‘v'nn]'ummm
COMEER | MYeanS

[A}  primary

(B)  importam

(€1 healthy

(B lively
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